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(BEEREHHEHER)

& s S picd = P
AR (B—F5~F=FR) R (F—~FE=5HFR
NEHREERE | ERHRER NEERREE | ARFRBER
hom s el hoRA e (i
TZ YN 2 ppm = (%) (H7RR) (Fak)
T U NEET T (B&) (B&) T 7 U NVERT T (W& (B&%)
FTZIUNB I NeL—TFN | 2 ppn = (H7ER) (Frax) (F73%)
T VNEEAFN (#%) (#g) T VNEEA T (H&) (B%)
(RE) (88) (B%) (B&) (B&) (B&)
7= (r&) (B%) F=0 (BS) (B%)
2—FI)TH )N 20 mg/nf - (#raR) TR (k)
3—73/—1H—1, 2, |0.2 ng/nd = (FRR) (%) (HF7ER)
4—bUFTS—n HIAET
ke —s)
T YNALTa—) 0.5 ppm - (FrE%) (HrER) (%)
1—=79AdF—2, 3—| (B (%) 1—=7UAFF—2, 3—| (B (W)
TRF T TIRF SR
FTIN—JNwh—T )| — 1 ppm (Bra%) (k) (k)
ANT 4 K
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TNT7—AFNRAF L (H&) (B8) TNT7—=AFNVAF L (Hg) (B&)

3—AVTTFHbAFNA—|0.005 ppm = (FaR) (HrER) (#FiR)

3, 5, 5—FYAFALY

EAF A=A VT F—h

AT BAFN 0.02 ppm 0.04 ppm (Fra%) FER) (FR)

ATV (B&) (B%) ATV (B&) (%)

AV TRENT I 2 ppm = (B (#ak) (BTER)

A Y Fa ez —F N 250 ppm 500 ppm (F7ER) (FraR) (Frar)

A VFRe - (Bg) (&) A JERRr > (&) (R%)
(%) (&) (B%) (&) (B%) - (W)

TFVF ) AMRARY () () TFVF L) ARRY (%) ()

TFATF I 5 ppm = (%) () R

TFN =B h L F ) =~ F | 10 ppm = (FraR) (FTER) (FraR)

by

TFN—F—=bp T =01 mn/m o (3aR) (Hrar) ()

NFA )RR A RRA '
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2 —EF AT Y R (R&) (%) 2 —TF XY R (B%) (k&)

TF VLT a— (%) (&) TF LY a— (HE) (&)

TLF L) a—=F ) 7F | 20 ppn fnd (%) (Frax) (FER)
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ITFLYPT IV 10 ppm = (FHar) (TR (k)
ok RY» (B8) (Y] mEsmak FY (%) (B%)
2, 3—=HEF Aot r=0.1 ppn - (#F) (FraR) (HraR)
7z bm—F)

W7 VN (RE&) (ng) i (m&) (B%)
HAbAR R &R UL 0.6 mg/nd = (#raR) (Fa) (Bra%)
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IR TG v VAES TN | = (HRR) () i)

BEELT
0.3 mg/ni
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runxgy (WAELZF | () ) ronxyy (NERLTF | ) (#5)




) )
2—/puo—4—xFATI| 2 me/nl = (%) (Fra%) (a8
/=6 —AVTRUELT I/
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—TFAERD, )
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ER (LR SD VAES TN | — (F7aR) s (FaR)

BFE LT
0.1 mg/m

Eelb v b 0.2 mg/nf - ) (FER) (#7aR)
ik A L FL 2 ppm = (HTRR) (#rax) (HTER)
TR T A=A 20 ppm = (Frar) (FraR) (#a%)
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VIUANFUAT IV (&) (B®) VI RAFIAT I (&) (%)
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CRT (8% (R%) URT v =y (B

N, N—PAFATERITI| () (H) N, N=UAFATEITI | (B (&)
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FRIZFAERKRAT =A | 0.01 me/nf = (#aR) (#E) (R
b BILETEPP)

FrIrmalIAtaxy |50 ppn = (FaR) (FrER) ()
v (BIACEC—112)

TRGAFAFIZHATANL | (BE) (R&) FRIAFAFTITATAN | () (rE)
74 F GUAFTIL) 74K BIRFTTA)

T e -V 1 mg/nf = (%) (Hrak) ()
FyZoaxz&y (1, 1, |1 ppm - (FHE) (%) 0
2—hVsumux i 2R

Do)

R A=R=1: (B%) (B&) VA= g=1:(5:" (R&) &)
1, 1, 2—bVZwvaw—|500 ppm = Fa) (%) CBraw)
1, 2, 2—FYZArdn=
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R FrERAZY 0.5 ppm s () (HER) (F7ER)
r)RAFAT IV 3 ppm = (FFE) (Fa) (%)
F ) AFAARP L 10 ppm = (FraR) #FH) (Frak)




1—FT7FAL—N—RAFAH | ) (H&) 1—F7FNA—N—-AFLH | (B (B%)

WA — T+ (BB N3 ARl A= (Bl& B RY '

W) %)

“EbER 0.2 ppm = (%) CETER) (Fra%)

=y () (8%) =y oy (r&)

=hog - | 10_ppm = (FFaR) (e FHak)

AN-Y ARV 0.01 ppm - (FriR) (%) (HEe)

ooy (1—=h2 |2 ppm = (HrRR) (FR%) (FraE%)

TR, )

BN A (B%) (&) =hrRrgy (R%) (B&)

—hoA&y 10 ppm = (iaR) () (#az)
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No—=bpF=l v 3 mg/nf = (FraR) GHraR) (BTER)

b KT YR O—Kind (H&) (#&) E T P RBEO—KNY (H8) (BE)

= (B&) (B&) [ = (k&) (B

Y B 10 ppm = (HraR) (HaR) (Fa%)

N—F=/A—2—¥al K |0.01l ppm = (FER) (Frar) )

B x=)b (B&) (B&) 7 =)V (r&) (K5)
(%) (®%) (R&) (HE) (r&) (B%)

Tz NEAFTT (R&) (B%) Y i b N (B%) (RE)

Tr= Ly PF Iy (289 —10.1 ng/nd - (FaR) () (TER)

Txo Vv PTIVERUBAS

— 7= LTI VIR

5o )

T ) FTIv 0.5 mg/m - (Frax) (Fra) GBraR)

TE =N (F—% VY —7 |20 ppm = (F3%) (BraR) (FraR)

) —MZR3, )

7 ZNEBYTFN 30 me/nd - FHF) CETER) (B
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v

THNBER (2 —xF N~ | 1 ne/nf = (HraR) (#aR) ()
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2 =TT =N (Hg) (B&) 2=FFF—n (B&) (B%)
() (%) (H&) (R&) (#&) (R%)

INTYNT a—i (H&) (B&) INT VAT AT—L (BE) (&)

=1 10 ppm — FaR) (k) CHTaR)




(WiZ 5 BT+ Y o s47KF0
Y (AUARTEY) RS, )

(iE 5 85+ U w7 bk
W (BlaRUR) RS, )

Zuvr Y a—% /) A | 50 ppm — (Fra%) R (Frak)
Fhx—F

ToE R TZAFaAE 1,000 ppm = (R (HrE%) (#ar)
1—7rESBAY (88) (B%) 1—Fmrerusy () . (R&)
~FProoyy 1 ppm = () (R (Hraz)
1, 2, 3, 4, 10, 10 (0.1 me/sd = (#aR) (HFraR) (FaR)
—~FEHropn—6, 7—x '

AH¥L~1, 4, 4a, 5,

6, 7, 8, 8a—ArFkE
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Ly (Bl FY V) _

AFPRF =AY F | 0.005 ppm = (FaR) (BraR) (Bra)
F=h

TR (I A=w—~TF A | 500 ppm — (Fre%) (BTRR) (Ghras)
VIZRB, )

1, 2, A—~_y ¥y b YH|0.0005 me/nd | 0.002 me/nf (HER) 5 G
NRVERL, 2K

Ry By (v —ir# | 1,000 pon = (Hra%) (FaR) (HTaR)
VRU2 —RAFATE IR '
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KR 0.2 ppm = (#7a%) (&) ()
Mok~ LA VB 0.08 me/ni | — (Brax) (HiaR) ()
AZ T YNEE 20 ppm = (Fra%) (3% (F7E%)
AZ T YNERAFN 20 ppm = () (k) (Hiak)
AFsVyu=krIn (B&) (B%) AF7Vua=krYnN (RE) (%)
AFT—) 1,000 ppm - (Brsx) (Frar) (FraR)
N—AFAT =Y 2 meg/ni = (R (s (HER)
AFAT IV 4 ppm = (HraR) (R (Fran)
N—RFNAHNNT A2 — | 0.6 me/nf - (H3R) FHaR) (Hra%)
AT ELFHRT T o=

(B4 7't ;R % /L)
AFN—F—x ) —TFN| #E) (B&) AFN—F—x Y —TFN | (#) (R&)
T—5L (JEMTBE) =—F L (WAMTBE)
5E—AFN—2—~FH /2 | 10 ppm = (R (FraR) (FR)
2—AFN—2, 4—~2%|120 mg/nd = €59 () (FER)
A=A
4, 4’ —AFLyPT7=0| () (&) 4, 4" —AFLvTPFT=U | () (%%}
- “
AFLvER (4, 1 —%% 10.05 mg/ni - (Fra%) (Fraz) (%)
oAy y) =VALVYVT
X—Fk
1— (2—AFX—2—3A |50 ppm - (BTER) (HrER) (FreR)

FrzrFy) —2—=—Fuan
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s 0.02 ppm = (38R (HaR) ($752)
D Ak - (#8) (%) D Ak (k&) (&)
b A 1 me/nf = #FR) FaR) (#ER)
DAY AFA=1—RAb% |00l ng/ri |— GHaR) (373%) (H7a%)
IR N—1 —Fa~ly

— 9 — A (Blf AR

A)

DABRNY RUA (DABES | (B2 (&) DABFY UL (DABEN| (B (B%)
J (Fr=—FrVA) R Y (A k=D ) R

5o ) 5, )

DABR LY — ) N=A—FF | 5 ng/ni = (30 () (FTER)
N

DABEED Z =) 3 mg/m = (HaR) (%) (BraR)
VI )= (8% (K& VYN )= (E8) (1)
VAN O 0.01 ppm - (BTE%) CBTER) (rax)
wE (@) I E (Y




